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Grade Boundaries

What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain
a certain grade for the externally assessed unit. We set grade boundaries for
each grade, at Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner
who took the external assessment. When we can see the full picture of
performance, our experts are then able to decide where best to place the
grade boundaries - this means that they decide what the lowest possible
mark is for a particular grade.

When our experts set the grade boundaries, they make sure that
candidatesreceive grades which reflect their ability. Awarding grade
boundaries is conducted to ensure candidates achieve the grade they
deserve to achieve, irrespective of variation in the external assessment.

Variations in external assessments

Each external assessment we set asks different questions and may assess
different parts of the unit content outlined in the specification. It would be
unfair to candidates if we set the same grade boundaries for each
assessment, because then it would not take accessibility into account.

Grade boundaries for this, and all other papers, are on the website via this
link:

http://qualifications.pearson.com/en/support/support-topics/results-
certification/grade-boundaries.html

Awarding BTEC qualifications in 2022

Ofqual has set out their plans for awarding qualifications in 2022 and intend
to return to a normal, pre-pandemic, approach to grading standards over
by 2023. They have confirmed that 2022 will be a transition year, to reflect
that we are in a pandemic recovery period and students’ education has
been disrupted.

Our guiding principle and approach to awarding BTEC qualification
results in 2022 will be to ensure parity in relation to the approach
being taken for GCSE and A level learners. BTEC courses have a different
structure and design to academic qualifications - BTECs are modular
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qualifications (with assessments taking place throughout the course)
compared to GCSEs and A levels which are linear (assessed and awarded at
the same time at the end of the year), and therefore our approach needs to
be different.

In 2022 we will return to the usual method of calculating BTEC qualification
results, however adaptations including, U-TAGs and reduced internal
assessment, are in place to provide a comprehensive package of support
for students.

The basis of our awarding approach to BTECs this year is to ensure it is as
fair as possible for all candidates. We will use a range of evidence to set
grade boundaries for the external units. Part of this evidence will be to
closely monitor learner performance in all assessments that contribute to
candidates’ final qualification grade, to ensure parity with A level and GCSEs.

Further information can be found on our website and via our Social Media
channels.

Owner: VQ Assessment Page 4 of 31 Version 1.0
Issue 1
DCL1


https://qualifications.pearson.com/en/campaigns/vq-assessment-hub/teaching-learning-and-assessment-2021-2022.html

Pearson
BTEC

BTEC LE Report 2206

Introduction

This is the third available external examination series for this unit, with
approximately 2160 candidates sitting the paper.

Relevant unit specific knowledge was demonstrated by the majority of
candidates however limited understanding, or unfamiliarity with the unit
content and terminology, was evident in some responses to questions.

A number of candidates used extra paper to complete a response. It is good
practice to write ‘continued on extra paper’ on the answer book to signpost
this.

Most candidates attempted the majority of questions however some blank
and short responses were seen. Where candidates had used additional paper
to complete a response, this occasionally led to other questions remaining
unanswered, potentially indicating time management to be an area of
opportunity for future development.

The paper successfully discriminated across all ability levels. The open
extended response questions (Q1d, Qle, Q2e, Q3c and Q3d) were
particularly good indicators of a candidate’s ability to demonstrate both the
application of unit specific knowledge, and also competency in producing a
discussion or an evaluation.

Some very well-structured responses were seen. Conclusions were often
included in all open extended responses however a conclusion is only
required for questions using the command word ‘evaluate’.

There were occasions when a candidate’s writing was extremely difficult to
read, and whilst examiners do make every effort to understand a response,
marks could be lost due to illegibility.

Use of a pale coloured ink or a felt-tip pen could contribute to difficulties in
reading responses. Candidates should complete their answers using a black
biro.
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Individual Questions

Q1a

Many candidates did not answer this question in sufficient detail to be
awarded a mark. The expectation was for candidates to give a definition of
domestic tourism similar to that stated in the unit content eg ‘taking holidays
and trips inside your own country of residence’, however most responses
were too vague and failed to reference holidays/trips. Many responses
repeated the word tourism, with no further clarification provided eg
‘Domestic tourism is tourism in your own country. Another common
response given which did not attract a mark was ‘Domestic tourism is travel
within your own country’.

This response was awarded 1 mark:
;

Answer ALL questions. Write your answers in the spaces provided.
Mallard Park is a natural visitor attraction.
Visitor attractions are popular destinations with domestic tourists.

1 (a) What is domestic tourism?
(1)

o\omci\-c, )\ovr\\tr’\ Is vw\'_“?'* UOu 30 on \«ol;Jv WHL"’\-

‘OQN" [SXPATLN C«OV“\“QJ‘.

This response was awarded 0 marks:

Answer ALL questions. Write your answers in the spaces provided.
Mallard Park is a natural visitor attraction.
Visitor attractions are popular destinations with domestic tourists.

1 (a) What is domestic tourism?
(1)

{enueNing.... wiHhia ,un Same..COUNtM  yeu lve, ‘o
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Q1b

The stem provided candidates with one way in which voluntary sector
organisations can be funded (admission fees paid by visitors) and asked
them to describe one additional way. Most candidates scored a mark for
identifying the way in which a voluntary sector organisation can be
funded and many also attained a mark for the additional linked
description.

‘Government grants’ was a common response and attracted 2 marks as
it was considered equivalent to ‘grants’ (1 mark)/ provided by the
government (1 mark)

This response provided a number of ‘ways’ in which voluntary
sector organisations can be funded but provided no linked
description.

This response was awarded 1 mark:

W N PR, g ¢ {v N N\ N A\ N ) ) g
Mallard\F‘ar\lflsavoldntary dector orgamsatlon.u VA

Admission fees paid by visitors are one way in which voluntary sector organisations
can be funded.

(b) Describe one other way in which voluntary sector organisations can be funded.
(2)

AnCEner wQy  ENGE ACLUN ECr  @SHH
IGUSQHOS. . CCALNE FLNOET. 15 GCNES,
ACNQncnsegaaes sk G
CNCr U Cine seCreun

This response was awarded 2 marks:
Mallard Park is a voluntary sector organisation.

Admission fees paid by visitors are one way in which voluntary sector organisations
can be funded.

(b) Describe one other way in which voluntary sector organisations can be funded.
(2)

Bj ,;\63‘0«.935 this s money . les L Scom
oder people. _or. gfts . Goverment grents
con be Sonded o cherit.cs as well.
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Q1c

The stem for Q1c provided candidates with information about Mallard
Park and gave a visitor profile. Candidates were asked to explain how
two products/services of Mallard Park meet the needs of the family in
the given profile.

1 mark was awarded for identification of each suitable product/service
(maximum 2 marks), and 1 mark was given for each linked explanation
of how the product/service meets the family’'s needs (maximum 2
marks).

Each product/service selected had to be appropriate to the family to be
awarded a mark.

Many candidates selected ‘adventure playground and classroom’ as one
product/service but did not score a mark for this as it is highly unlikely
that a classroom would be used by a family on a visit. Where ‘adventure
playground’ had been selected as a lone product/service, this did attract
a mark.

Many candidates did provide linked explanations specific to the needs of
the family eg ‘The picnic area’ (1 mark for appropriate
product/service)/allows the family to sit and eat together and young kids
can be picky, so it's better for them to bring food from home’ (1 mark for
linked explanation).

Where there was repetition of a linked explanation eg a guided walk on
a nature trail is ‘something the whole family can enjoy together and learn
about the environment’, and fishing lessons are ‘something the whole
family can enjoy together and learn how to fish’, the linked explanations
were only credited once.

Marks were not awarded for vague explanations that did not clearly
show how a need of the specific family was being met eg ‘the family can
have fun’, ‘the kids can play'.

‘Stops them from being bored’ was frequently provided as a linked
explanation however it is not creditworthy as it is not meeting a need.
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This response was awarded 4 marks:

(c) A family with three children aged 3, 6 and 12 years old are visiting Mallard Park.

Explain how two products/services offered by Mallard Park meet the needs of
this family.
(4)

1 An Aduencure  p1ayglound ..« 0uIol meee. Ehe
needls. ofF €ncs.  fam ¢y b&aise, (& prouteles
CNE e nmeEne. (Or. Ehe cig /o(/e/?a(gécfs
N2 1~ S - e
2.0 .CAFe.  Provdddh.. ANO MAAS.. Ehe. NoauS
becac&ececsafamc\/ymemSmm\chldlli
are. marces. CE. a ccabe OF. Chen. LQ
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scop ant  hawe SOﬂféhCz? e0 ent Q/zy'

This response identified one appropriate product/service (30
minute motorboat ride around the lake).
This response was awarded 1 mark:

" (c) Afamily with three children aged 3, 6 and 12 years old are visiting Mallard Park.

Explain how two products/services offered by Mallard Park meet the needs of
this family.
(4)

neete e  wneeds of o \2‘,,,___,_.,1,5@@(. o0 because
Hey ae  constantly mooing and Hep will vel
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Q1d

Candidates were given two operating aims of Mallard Park and were
asked to discuss whether, in consideration of the stem given in Q1g,
Mallard Park meets these aims.

Many responses considered both operating aims and linked the points
made to the context of the question.

A number of candidates stated the aspects of Mallard Park they felt
met/did not meet the operating aims but did not develop their
discussions sufficiently to access the higher marks.

This is an extract of a response awarded 7 marks. The candidate
demonstrates mostly accurate and detailed knowledge and
understanding. Most of the points made were relevant to the
context of the question and there are clear links. A well developed
and logical discussion has been produced which clearly considers a
range of different aspects and considers how they interrelate, in a
sustained way:

N J . " -
% Mallc o P«rk Protecd L Wolice Crom

pPSSrJ/e— 31/@4/\'3 L:) fc(f\,J A\ﬁ {L(M Omc\ AR TS
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This is an extract of a response awarded 2 marks. The majority of
the answer had been copied from the stem however the extract
below demonstrates isolated elements of knowledge and
understanding, limited discussion and generic assertions:

the  bids  haue been Sed 7 Mallad
PAIK. \\cmrzq ade  YArge  of acwiys
S00e QU types  O€ peorv a

Uchh QUows - [WIyone . Q. be
@b\fz 10 QKP\O(Q tho  POIK. BT
tho DA Qofusdly — Meetr .M...,cwﬁj, N
ad S Q. gosd  Plce ta iy Ouk
oo mce day .

Q1le
Candidates were asked to discuss the implications for UK visitor
attractions of complying with health and safety legislation.

Many responses demonstrated some accurate knowledge and
understanding, with some points made being relevant to the context in
the question.

Many responses concentrated on the financial implications and
customer perception of the attraction as a result of compliance/non-
compliance, with some candidates’ discussions being developed further
to include the practical implications of adhering to the legislation eg risk
assessments, sufficient staffing, signage etc.
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This is an extract of a response awarded 6 marks. The candidate
demonstrates some accurate knowledge and understanding, with
only minor gaps and omissions. Some of the points made were
relevant to the context of the question and a partially developed
discussion has been displayed that considers some different
aspects and how they interrelate:

OODL.. BOL.. OCAEN A BOKON.. TINERE.. AnNE0essS..COIA...
DO AOSS. 00 INONEY . OO\ c,cmc.e),\mgmew
O ORP. ... OO L R-OVRLLG.,. \OSS... 0. NTR/E.

oM. COSYOMESS.. \f  OeoQ\e. . O \w\v\%
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Lo EOo\ce  QXRASO.. LN & . LI\ d.o‘\r\% el ealen.
OO SOEE ... L. OSSESS NN, XO.. Prevent  xNESC........

This is an extract of a response awarded 1 mark. The candidate has
demonstrated isolated elements of knowledge and understanding
with major gaps and omissions:

() Discuss the implications for UK visitor attractions of complying with health and
o ,
e VPP h.celiion )’ft/f' Qle  ViSitoc...
OLGrafinent.... Q.. .Com? Qg LGN, Aeed en
M. S legiSiedton.. 5. L0 lceep . .
el _L_jap <. Seo =€t 5 Ghomlie.
O(J‘A,O)QY\DVVW{\S Need .. \Z0.. o0~ ce..
IVeHYlhing |5  Luw  Socesads
oA (rerdse oo pouse covke.  Suce.
Chryming..... LS (oning. . LlgnC . .
. C/f‘(k ,L,/)o(:'h//)j) Lol P <.
(W Ssoere s
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Q2(a)(i)

This was a well answered question. The vast majority of candidates were
able to use the information in the given table to identify the region of
England with the lowest number of people in direct tourism employment
as being the ‘North East'.

This response was awarded 1 mark:

B e TR,

12 (a) ) Identify the region that had the lowest number of people in direct
| employment in tourism.

| /\)o\)ﬂ/\ EQ‘A’ L

Q2(a)(ii)

This was a well answered question. The vast majority of candidates were
able to use the information in the given table to identify the percentage
of people in the South West of England in direct tourism employment as
being 12.3%.

This response was awarded 1 mark:

(ii) Identify the percentage of people in direct employment in tourism in the |
South West.

12.%7%
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Q2(b)

Candidates were asked to give two job roles in a tourist information
centre however the vast majority of responses gave duties that would be
performed by someone working in a TIC, rather than actual job roles.

Where roles had been given, these were often generic and did not score
a mark eg cleaner.

This response was awarded 2 marks:
7 -

Tourist information centres provide direct employment in different job roles.

(b) Give two job roles in a tourist information centre.
(2)

1. receokionst:

2.0 %u;de.

This response was awarded 0 marks:
’

Tourist information centres provide direct employment in different job roles.

(b) Give two job roles in a tourist information centre,

14)(0\n'dm%. QPN and m;.omr;ahm\ to
peopi In.nued. of thcil hdp.
2boohmg$
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Q2(c)

Candidates were awarded 1 mark for each identification of an
appropriate organisation that a TIC could work with and a further mark
for the additional detail describing the interrelationship (up to a
maximum of 4 marks).

Although many candidates did select suitable organisations, such as a
local visitor attraction or a local accommodation provider, marks were
not awarded for unrealistic interrelationships eg a TIC and an airline, or
a TIC and a travel agency.

Although many candidates were able to identify at least one
interrelationship that a tourist information centre (TIC) could have with
another travel and tourism organisation, the majority did not provide
accurate additional detail to access further marks.

This response was awarded 4 marks:

Tourist information centres have interrelationships with other travel and tourism
organisations in the local area.

(c) Describe two interrelationships that a tourist information centre could have with

other travel and tourism organisations.
(4)

1 ﬁf 60‘1‘“‘.5{« mﬁo‘f("'\lk\-oﬂ (_an",b N 4o bave. s faberyelabonshie
WIIU\ o losal .Qjé?’@.cﬁo/\ y éub O#CV"% C/vasti
Formabions . and... fickets +o=CRem— of tle  attvackion

2 fLu.c Lan é?t an infrrrelobionshie. belwmen Q Jvo‘é-
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nFormation  eafre  can offer. Goursts  distowts i
Thewy . av stagng  of  ta  lotel.
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This response was too generic and awarded 0 marks:

== —

Tourist information centres have interrelationships with other travel and tourism
organisations in the local area.

(c) Describe two interrelationships that a tourist information centre could have with
other travel and tourism organisations.

oannd. Qer.... RIS ...... wcome.-

ey b\%%w ________ 1OV 8 o7 - S ———
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Q2(d)
Candidates were asked to explain two disadvantages of
interrelationships between travel and tourism organisations.

Candidates frequently gave only one disadvantage eg loss of identity, or
shared commission, however a relevant linked explanation was often

not provided.

On occasion, candidates confused the term ‘interrelationship’ with
‘integration’, indicating this with responses such as ‘job losses'.

Candidates often used incorrect terminology eg shared ‘money’ or
‘profits’, rather than ‘shared commission’.

This response was awarded 4 marks:

(d) Explain two potential disadvantages of interrelationships between travel and
tourism organisations.

(4)
100 000, Oraanidauan. Ceceues. loaa. ko Cuds. AN ...
NeRLNCAN4EX), XOC. ornes. .ocgcu\scm:oh Lo\, LOD. \ R s @

~ SOUCLINS oM. O3S ecaake. Dne. Ledd

teagrnec., (eeelkcnel vo. Coskemen Stae. DSLOCK LOL. COAANISACO 0%,
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This response was too vague and awarded 0 marks:

(d) Explain two potential disadvantages of interrelationships between travel and
tourism organisations.
(4)
1.0N0.... AZsx® \jmad ke.... 82&4?‘\ .......... more......
o

LOoMe(s....Qeo. 0. . e . LOSHE A o
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Q2(e)

Candidates were asked to evaluate the importance of both VisitBritain
and the Foreign, Commonwealth and Development Office (FCDO) in
supporting the travel and tourism industry. The stem clarified that the
FCDO was previously known as the FCO to avoid confusion.

Responses indicated that candidates were more familiar with the role of
VisitBritain than with the FCDO, and could more easily evaluate the
importance of VisitBritain in supporting the travel and tourism industry.

As the command word for the question is ‘evaluate’, there is an
expectation that different aspects and competing points of both
organisations are considered and that a conclusion is produced.

These extracts are from a response that was awarded 6 marks. The
response demonstrated some accurate knowledge about both
VisitBritain and the FCDO and was a partially developed evaluation
that considered some competing points, leading to a partially
supported conclusion:

\rdr*erecn's,,-xre INEOIONOS. of VS BaeQin .
SUOCOENND) AN AONRL. OND ACVASNN. INOLSICY.ISI0......
Procrate. BAlcQin. ond. #S 200N S SesSsinOrionNS. .
AN OHACH AXXISIS 10 S NS (O AINLCN..CON
CreCHeer £SO o reOER. OF InCON R 10 ANE. O
O+ MLIRDIer eFEECt CON B SEeN , 1N muhipkier
eFFECT IS InnDOAAN . OS i+ B AN _INAreOS . in mOIONMENTYt
ANAMOrLY.. SORNC. OM. ANSES NN QN eene ft
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T CONCILSON, VISSTRAENNA QNg FDOoce.

b

This is a response that was awarded 0 marks as there was no
rewardable material:

In September 2020 the Foreign and Commonwealth Office (FCO) was renamed as the
Foreign, Commonwealth and Development Office (FCDO).

(e) Evaluate the importance of both VisitBritain and the FCDO in supporting the
travel and tourism industry.

(10)
Tre..umporianc |sH3ho{>bo+hwsﬁﬁmcuxqr~dM ........
FepQ .. Jhis..iS. because. i¢ trey didnt e
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Q3(a)(i) and Q3(a)(ii)
Candidates were asked to explain one potential advantage for transport
hubs and gateways of ‘self-service check in" and ‘body scanner’

technology.

Although many appropriate responses were seen, candidates frequently
provided advantages to customers of each technology, rather than
advantages to transport hubs and gateways.

1 mark was available for each advantage and a further mark was
available for a linked explanation, up to a maximum of 4 marks.

Where there was repetition within a response eg self-service check in
‘speeds up check in and reduces queues’ and body scanners ‘speeds up
security and reduces queues’, this was only credited once.

This response was awarded 1 mark for identification of the
advantage of self-service check-in leading to the hiring of less staff.
The linked explanation of ‘wouldn’t have to pay for them to be
there’ was too vague to credit. The advantage of body scanners
being ‘quick and easy because just walk though’ was awarded 1
mark, with the linked explanation ‘harder to bring stuff that’s
dangerous if someone didn’'t feel when patting down’ was awarded
1 mark. This response was awarded 3 marks:

3 (a) Explain one potential advantage for transport hubs and gateways of each of the
following technologies.
(4)

(i) Self-service check in
0 W&

NouwldNt  need  \Ots . OfF 304t 400 ‘Buukes cnecxmg
VATIIE « 610 1€ 205 8 ST ALV \(0 10\ SR (0 VYA o O 2.6 UV S =\ e .04 4 A TR &

be _Ahet. PHse——tomCoudde—ie—aueit/ .

(i) Body scanners
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This response did not answer the question and was awarded 0
marks:

3 (a) Explain one potential advantage for transport hubs and gateways of each of the
following technologies.
(4)

N A LU O

(i) Self-service check in
Lorare ‘dw ok t‘vo(‘ own Me«’\ ond w\-\u\
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(i) Body scanners
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Q3(b)

Information about Birmingham Airport and a specific visitor profile was
provided in the stem. Candidates were asked to explain two reasons why
the tourists in the given profile may choose to arrive at Birmingham
Airport instead of a London airport.

Many good responses were seen, with advantages and linked
explanations being clearly related to the stem, however candidates
frequently provided advantages that were simply lifted from the stem
and/or not linked to the context and therefore did not receive marks.

This response received 1 mark for the explanation of Birmingham
Airport making the visitor’s destination in the north of England easy
to get to. The advantage of the airport being ‘100 miles-north-west
of London and close to major motorways’ did not attract a mark as
it was directly lifted from the stem, with no further understanding
shown. The advantage of Birmingham Airport having many
convenient transport services attracted 1 mark, and the linked
explanation of this meaning that the tourists can find the option of
transport that is best to travel to their destination attracted a
further mark.

This response was awarded a total of 3 marks:
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This response was too generic and was awarded 0 marks:

(b) Explain two reasons why these tourists may choose to arrive at Birmingham
Airport instead of a London airport.

(4)
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Q3(c)

Candidates were provided with Birmingham Airport's vision for
sustainability and were asked, in consideration of the stem given in
Q3(b), to evaluate whether the operations of Birmingham Airport
support its vision for sustainability.

As the command word for the question is ‘evaluate’, there is an
expectation that different aspects and competing points are considered
and that a conclusion is produced.

A range of responses were seen, ranging from those that simply
concluded whether the candidate believed the operations of the Airport
supported its vision, to those that considered some competing points
that led to a conclusion.

Candidates often discussed what the Airport could/probably does,
rather than what the airport actually does to support its vision. ‘Social
Benefits’ was commonly misunderstood as ‘socialising’ eg ‘The bars at
the airport are good spaces for people to chat/relax’.

Owner: VQ Assessment Page 25 of 31 Version 1.0
Issue 1
DCL1



© Pearson BTEC LE Report 2206

This is an extract from a response that was awarded 4 marks. The
candidate demonstrated some accurate knowledge but there were
minor omissions eg the extract below makes some valid points
about planes not running 24/7 being good for locals and the
environment, but does not detail why this is the case:

(c) Evaluate whether the operations of Birmingham Airport support its vision for

sustainability.
(8)
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This is an extract from a response that was awarded 0 marks as it
makes recommendations rather than evaluates whether the
operations of the Airport support its vision for sustainability:
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Q3(d)

Candidates were asked to evaluate how product development and
innovation has been responsible for the rapid growth of the transport
sector.

As the command word for the question is ‘evaluate’, there is an
expectation that different aspects and competing points are considered
and that a conclusion is produced.

Some candidates were able to provide specific examples of product
development and innovation and evaluate how each has been
responsible for the rapid growth of the transport sector, leading to a
conclusion.

Many candidates were awarded limited marks for this question as they
gave no examples and instead provided a generalised view of how they
perceived product development and innovation had led to the growth of
the transport sector.

Some candidates gave a small number of transport developments but
rarely showed any evaluation of how product development and
innovation have been responsible for the rapid growth of the transport
sector.
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These are extracts from a response that was awarded 8 marks. The
candidate has demonstrated accurate knowledge and
understanding of how specific product developments and
innovations have been responsible for the growth of the transport
sector. The candidate demonstrates links between factors and a
balanced evaluatlon that leads to a conclusmn
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This is an extract from a response that was awarded 1 mark. The
candidate has provided no examples of product development and

innovation and has demonstrated isolated elements of knowledge
and understanding:

(d) Evaluate how product development and innovation has been responsible for the
rapid growth of the transport sector.

(12)
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Summary
General advice to candidates

1. It is important to manage your time well. The paper has a total of 75
available marks and you have 90 minutes to answer all of the questions.
There were 5 open extended response questions on the June 2022
paper, offering a combined total of 48 available marks, so most of your
time needs to be spent on these questions.

2. It is important to understand what is expected for each of the
command words that could potentially be used in the paper. A list of
command words that can be used in the external examination can be
found in the essential content section of the Unit 1 specification.

Where the command word used in a question is ‘evaluate’, a conclusion
is required, and both aspects of the scenario or issue need to be
considered to access the higher marks.

3. The use of the word ‘Implication’ in a question is often interpreted as
difficulties/problems, whereas there could be positive implications/
effects/consequences too.

4. You should read the question and stem carefully before you attempt
to produce your response.

5. You should learn the roles of major organisations in the travel and
tourism industry, particularly ABTA, CAA and ATOL, as understanding of
any of these may be tested in either short answer questions or within an
extended response question. N.B. FCO is now known as FCDO - Foreign,
Commonwealth and Development Office

6. You should be able to give examples of key named organisations from
the different sectors of the travel industry and make sure that the
examples are correct.

7. Remember to apply all answers to travel and tourism organisations -
do not give generic answers that could apply to any business - e.g.
‘going bust'‘losing jobs’ - you should be able to say what sector, and why.
8. This is a Level 3 paper, so responses such as ‘more money’ or ‘more
customers’ are very vague and non-specific. You need to refer

to ‘increased income/turnover’ and ‘wider range of named customer
types’, and why proposed actions may lead to these outcomes.
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